KENDRIYA VIDYALAYA SANGATHAN - TINSUKIA REGION
PRE-BOARD | EXAMINATION 2024-25
SUJECT: SOCIAL SCIENCE

CLASS-X SUB- SOCIAL SCIENCE
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General Instructions :

i. Question paper comprises of six sections — A, B, C, D, E and F. There are 37 questions in the question paper.

All questions are compulsory.

ii. Section A — From question 1 to 20 are MCQs of 1 mark each.

iii. Section B — Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2 marks each. Answer

to each question should not exceed 40 words.

iv. Section C contains Q.25to Q.29 which are Short Answer Type Question s, carrying 3 marks each. Answer to

each question should not exceed 60 words

v. Section D — Question no. 30 to 33 are long answer type questions, carrying 5 marks each. Answer to each

guestion should not exceed 120 words.

vi. Section-E - Questions no from 34 to 36 are case based questions with three sub questions and are of 4 marks

each

vii. Section F — Question no. 37 is map based, carrying 5 marks with two parts, 37a from History (2 marks) and

37b from Geography (3 marks).

viii. There is no overall choice in the question paper.

iX. In addition to this, separate instructions are given with each section and question, wherever necessary.
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Q.NO SECTION-A MCQS (1x20=20)
1. 10,000,000 people died in Ireland between 1845-1849 due to
(a) potato famine (b) epidemic [1]
(c) foreign invasion (d) drought
1845-1849 & ST 3RS H 10,000,000 WP & FF fohAh FROT &5 2
(T) 3ATe] 37ehTet () HgTATY
() fagelr 3mspaT (3N qa@r
The Bengal Gazette was edited by
2. (A) Gangadhar Bhattacharya (B) Raja Rammohun Roy [1]
(C) James Augustus Hickey (D) Richard M. Hoe
FaTTel ST 1 UG Tohdeh GaRT fohdT /=T UT?
(V) MR $Feerard (& IS THAGA T
() SFE e fgarhr (3 RTE . gv

1|Page



Diomond Sutra is the oldest printed book of
(A) Japan (B) India
(C) Korea (D) None of these

SHHS IF Ho8 Wl Hfod I&i &
(T) STt (&) #RT
@ iR (3) SAH F P T

[1]

Who was the writer of the book ‘Hind Swaraj’?
(A) Rabindranath Tagore (B) Mahatma Gandhi
(C) Pt. J. L. Nehru (D) None of these

'Ree TS qEAF F o@H Hief A?
(T) WegallT &R (at) HGTcAT el
@ d9. . ud. Fgw (&) ST T BIS AL

[1]

Interpret the following pie diagram and answer the following question.

Plains
- Mountains
{—, Plateaus

Which is the significance of 43 percent land under plains?

a) It provides facilities for agriculture and industry

b) It provides facilities for tourism

¢) It ensures perennial flow of some river

d) It possesses rich reserves of minerals, fossil fuels and forests

fAIfafad 918 3@ $r earedr & 3R Heafail@d 9 &7 39X ¢

A $0T & A 43 faerd fA @1 Far Aged g2

T) I Y 3R T & fAv Faurd vere S §

&N ¥F wdied ¥ T gRUT yae & §

M) IF R A & IREANT yaE A gRARad #ar §
o) SHA Wiotell, SaeH $Ue 3R SETell & HHCY SN &

[1]

"Project tiger" One of the well publicized wildlife campaigns in the world, was launched in

(A) 1972 (B) 1974
(C) 1975 (D) 1973

(T) 1972 () 1974

[1]




@) 1975 (3N 1973

7. Read the following statements, choose the correct option. [1]
Assertion (A) : Minerals are an indispensable part of our lives

Reason (R) : Minerals have a universal use, they are used to manufacture everything we use in
our day to day lives.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A

c) Ais true but R is wrong

d) A is wrong but R is true

frAfaf@d ®uel & ¢, @@ fawed Ia|

grar (V) : Tl §AR Siidel &7 Uah 3fary fgear g

FROT (3R) : Wil 1 AGHAF 3T grar &, 31 3UNT AR Sfaew Shaa
H 3uAer fr S arel &¢ e & [AEOT & v FAr Far g

T) T 3R 3R q&l @ § 3R 3R, T &7 Tgr TISER0T g

M T IR IR G G §, AfFT 3R, T FT o TISERUT FAdl §

@ T g § dfhd 3R T ®

) T IAT § ofhd IR TT &

8. A belief that the majority community should be able to rule a country in whichever way it wants, | [1]
by disregarding the wishes and needs of the minority is

a) Power sharing b) Central Government

¢) Majoritarianism d) Community Government

Jg 4RO § 6 qg(—i&qeh HHETT &l HeTHETH I FTorsil R FT&edr v 39T
o, T g ¥ a8 IR, fhdY S O AT el H F&TH glaAT AT

T) AT T AEGRY ) g AR
) SgEEIhdT 3 THER—E TR
9. Match list I with list 11 and select the correct answer using the codes below in the [1]
lists.
List | List 11
1) Power sharing a) Power shared among different levels of
the government
2) Check and balances b) Reduce the possibility of conflict
between social groups
3) Vertical divisions c) Example of power sharing among
different social groups
4) Reserved constituencies d) Power sharing among different organs
of the government
ayl-c,2-d,3-a,4-b b)1-d,2-d,3-c,4-a
¢)1-b,2-d,3-3,4-¢ d1l-a,2-¢,3-d,4-b
T 1 @ g2 11 @ gafad Y AR AR U AT g T 3uEeT e JE 3 ge
g
1) §AT & §eanrT %) fafdea TRt & g @@ &1 dearT
IR
2) Sirg AR Aol T) Fu¥ &I GHGAT HA
Ao Fegh & &

3) FEanR e I I H AT T TRIERT FT3ETEIOT

Affe A aH g

QO

3|Page



4) IRFAT Ad=eT a7 ") affea 30 & S gar & el

WHR &
T) 1 -&, 2 -3, 3-1T, 4 -4 a1 -39, 2 -9, 3 -,
4 - T
@ o1 -4d 2-3, 3-1T, 4 -®r an 1 -7, 2@, 3 -9,
4 - &

10.

Study the picture and answer the question that follows:
Which of the following options best signifies this cartoon?

=T Tl -
ERE =M »

EHCLREL v

— e s

a) Demand for separate state from democratic government
b) Democratic government is facing territorial issues with the bordering states

¢) Demaocratic government is coping with multiple pressures through accommodation
d) Democratic government accepts demands based on separate state

T &1 3reTTT Y 3R AFAfaf@a 92T &1 3R/ &
frtfaf@d & & #id @1 FFeT 50 FT F T9q 30T AT §2

P
UGk

etk

) iehdliTaeh THR I HATEA TAl & @Y &A1 Heal H FTHAT Al I3

W&
M) Ahdiih THR ARG & ATETH § &g gardl &l iHeT T WEr 8

[1]
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g dihdiiae TR 39 Tod W IURT ARl A EHR -l §

11.

Consider the following statements on the practice of federalism in India. Identify those which
hold true for decentralisation after 1992.

A. Local governments did not have any power or resources of their own.

B. It became constitutionally mandatory to hold regular elections to local government bodies.

C. The state governments are required to share some powers and revenue with local government
bodies.

D. No seats are reserved in the elected bodies for scheduled castes, scheduled tribes and other
backward classes.

(@ BandC

(b) Aand C

(c)Aand D

(d) Band D

R H Hgdig & 9T W AFATf@d el W AR | 3 el dr ggared i
ST 1992 & 916 TAdgIRor & fow &gt 81

A. TIETT WERT & I AU His AfFd a1 JaATT Agr |

B. UL N Fart & foav Gafdd gama wer daunses &9 & 3faary 8
T

C. TsT WHRI H TYET WHR @bl & @y $o afedar AR e aqrsn
AT ITITH ¢

. fefRd @t # segfad Sifd, R Sefa iR 3 Uos g9t &
v #1g @ 3RfEa g €

() & AR &@r

(@) TR @

(@) TR &

@n & AR I

[1]

12.

Read the following statements, choose correct option.

Assertion (A) : Equal Remuneration Act. 1976, provides that equal wages should be

paid for equal work, irrespective of gender and caste.

Reason (R) : Women are physically weak so they are righteously paid less than men.

a) If both assertion and reason are true and reason is the correct explanation of assertion.

b) If both assertion and reason are true but reason is not the correct explanation of assertion.
c) If assertion is true but reason is false.

d) If both assertion and reason are false.

R Feet @ 93, T RweT T

grar (T) : AT uTisfds 3RFTd| 1976, 9@y aar § & @ ada 8=
R

foor 3R Sifd w0 e v fSam #ae e & v e

FROT (IR) : AT iR 9 & FAGAR g § safaw 308 qoui & Joferr
FA IdeT fgam Srar gl

T) IfE gar 3R FROT g T § AR FROT, gd AT TE ArEAT gl

dn I gar 3R FROT ST T § dfhd ®RUT, grd Fr TEr sarear Adr gl
o) Ifg grar I § Afehe wROT e d B

g g grar AR FROT gEr AT B

[1]
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13. Read the information given below and select the correct option.

Formed in 1984 under the leadership of Kanshi Ram. Seeks to represent and secure
power for the bahujan Samaj which includes the dalits, adivasis, OBCs and religious
minorities. Draws inspiration from the ideas and teachings of Shahu Maharaj, Mahatma
Phule, Periyar Ramaswami Naicker and Babasaheb Ambedkar. Stands for the cause of
securing the interests and welfare of the dalits and oppressed people.

a) Communist Party of India-Marxist (CPI-M)

b) Bahujan Samaj Party (BSP)

c) Bharatiya Janata Party (BJP)

d) Indian National Congress (INC)

A & TS STHRT 96 3R FE faehed Il

1984 A FRIRMA & Aded & 1fed| wfafafticd e IR GIIAT Fr agar &
ggoid TATST & forv war forwd gferd, Jmieardr, 3Rl 3R e enfAer @
ICUHETSF . HEICAT AE FARIST & faart R Remst & 9om a9 &

Pel, IRIR TAREET AR 3R SR FdsH| & Hhde & v @31 §
aferdl 3R 3cfsd ol & fBdl 3R wedmor & AT He|

U) HRAT HFgfaee aréf-AFHaE (CPI-M)

&) agsrrrmsrtn'& (SET)

d) ARAT FeIdr 9rél (ST

3 ARAT TSI HPF  (INC)

[1]

14, Read the given data and find out which country has most equitable distribution of income. [1]
Monthly income of five families in country A and country B.
I [ Il \ V
A: 9500 9600 10000 10400 10500
B: 3000 2000 5000 4000 36000
a) Country A b) Country B
¢) Country Aand B c) None of these
few 1w 3rihst Fr 9 IR gar v R R S A 3T T "9 I¥F FaraHed
faeor Bl
ger A AR ger B A dfg 9R@Enrt A Ffw 31|
I Il I W Vv
A 9500 9600 10000 10400 10500
B: 3000 2000 5000 4000 36000
T) SA T an ger &
@) g TR & 3 zAH ¥ P G
15. Economic development by maintaining the natural resources for present and future use [1]
is known as
a) sustainable development b) planned development
¢) human development Index d) development

qAE 3R ISy & 3UANT & U yrepfceh GETerEl i S0 @ gU 3N A
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$H & H AT ST §

i) WTO establishes rules regarding international trade for all countries
i) WTO is started at the initiative of developed countries

iii) Developing countries like India have removed trade barriers

iv) In practice, trade between countries is not obeyed.

a) iv - i, iii, i b) iii - iv - i - ii
c) ii - i - iv - i d) i - i - iii — iv
fAefaf@d = gy %A d gafeyd H

i) Seogent @l & & AU IR IR & ey # A Tifa #war §
ii) wro fawf@d gut & gger WX & Thar I &
iii) AR SN wraele qeff o saaR arenst @ ger fear §

T) Hdd faE an fAafea e
oY) AT faerE g 3N e
16. Ramesh owns a medical shop. He managed the shop with the help of an assistant. Once his son [1]
Mahesh finished his education, he also joined his father in the medical shop. Now both Ramesh
and Mahesh managed the medical shop with the help of the assistant. Mahesh is
a) Unemployed b) Underemployed
¢) Over employed d) Employed
AL dT Toh AfShel gF &1 38l Teh HETeh ol Hag  golel T Yeere fohar|
Teh IR S 3osh 9¢ HQGY o =T e g ¥ of, or g of 3r9=r e & @y
AfSHT gohtal A AfAer g aIT| 3T WY 3N 7Y Sl FerIh T Aag § Afswer
gehlel Tellel ofdl| HEU &
&) AR ) 3Heq SUSHR
) FEE e ") e [AafEa
17. The sector in which the productive units are owned maintained and managed by government. [1]
a) organized sector b) Primary sector
¢) Public sector d) Industrial sector
58 817 A 3cUIceh SHISAT HI TAIfACT g, 3T IWIEE 3R YaEe 39 GaNI
R Sirar &
JIhR|
T) arfea & & wafAe &7
o) FEsfas & g sfeaf@s &
18 Which one of the following is the appropriate meaning of collateral? [1]
(a) It is the sum total of money borrowed from banks.
(b) The amount borrowed from friends.
(c) It is an asset of the borrower used as guarantee to a lender.
(d) The amount invested in a business.
farafaf@a & & i ar gurikas &1 3fa 37 g2
(T) IE ol & YR o 315 GeRIRA 1 Fol 1T g
(@ arFdr ¥ 3UR o I8 T
(T@) Tg FURSA! & U U § ST 3T Huerar & IR & & 7 Far
ST
3N R cgaam & Fawr v g af
19. Arrange the following in the correct sequence. [1]
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@) i1 - i - iv - iii

iv) SagR #, AT & &I SUUR & Ureled Aal AT ST gl
q)

&

) i - ii - iii - iv

iv - i, iii, ii iii - iv - 1 - ii

20.

Which organisation supports liberalisation of foreign trade and investments in India?
a) International Labour Organisation (ILO)
¢) World Trade Organisation (WTO)

PlsT AT TIST ARG A e samar 3R AT & 3eaRoT &1 GATT T g2
T) IS A FIdeT
@) 929 IR GItod

b) World Bank
d) International Monetary Fund (IMF)

i Mg d=
) JRTSET Hal S

[1]

Q.NO

SECTION-B
VERY SHORT ANSWER QUESTIONS-

(2x4=8)

21.

What were silk routes ? Explain two points.

WA AR = A? ar &g T #:.

[2]

22.

How is it possible to grow rice in areas of less rain like Punjab and Haryana?

Uae 3R gRIOT S¥ FH I It &F H ATdd 3MAT HY HT E2
OR

Why are pulses grown in rotation with other crops?

alel 31 BHA & HIY ThiolshdA H FAT 39S ST 52

[2]

23.

Define Feminist Movements.

ARIGTGT HATaTesll sl IR &L
OR
How does religion influence the political set up in our country?

¢ §AR S H STeiliceh cIaTdT A fohd YR T Tl &2

[2]

24,

How far is it correct to say that disguised unemployment can also be called underemployment?
Explain.

g FEoll Fgl dh TG § F ToSeed SISHMRY F HEWISHR 371 FgT S Fohdl §?
SATEAT T

[2]

SECTION-C
SHORT ANSWER BASED QUESTIONS

(3x5=15)

25.

How was civil disobedience movement different from the non-cooperation movement?

gfaaa 31937 3N 3GEAT e 4 59 R @ are

3]

26.

What are the main characteristics of commercial farming? Give some examples of commercial
crops in India.

AT Wl 1 &g FAVAC a1 §2 6RA & Iaaids hHel & FS a0
L

3]

217.

Explain four features of the federal form of government.

T T SFaEdT Y IR [AAYAT Farsy|

3]

28.

‘Barriers on foreign trade and foreign investment were removed to a large extent in India since
1991.” Justify the statement.

'1991 & d1 ¥ HRA H ¥R MR 3R {4l foder oT arend &y gg de gy
B TSI FUT F T SET

3]

29.

What are the two sectors of economic activities on the basis of the ownership of resources?
Explain.

3]
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TETUAT & TMACE & IR W 3fe afafafoat & ar a7 Fla & § carear
T |

SECTION-D
LONG ANSWER BASED QUESTIONS

(5x4=20)

30.

“The first clear expression of nationalism came with the French Revolution in 1789”.
Explain the meaning of nationalism and throw light on the statement.

"IrSEaTE N UES TS JHTHCATFA 1789 F BRI Hifd & AU g7 | Isgare H

31 TUse AT AT FUST TR Fem1er Sifev|
Or
How did the Balkan region become a source of nationalist tension in Europe after 18717

1871 @& §TG Sleshel &1 JUT H TSl dolld & Hid Ha e T2

[5]

31.

Evaluate the factors which are responsible for the location of jute industry in West Bengal.

3o HReT I Hedichel Y AT GRGA 9Tl H [ 3earer S F&afa & fou
[EER AR

OR
Describe the various physical and human factors responsible for the location of industries.

3ednn &7 3aRufa & v smer Affies #Hifdew ta AE SRS &1 auid
ey

[5]

32.

“All over the world, people express their dissatisfaction with the failure of political parties to
perform their functions well.” Analyze the statement with arguments.

"gfer $ H, olleT TsElfcleh el SaRT 39T HR 8 & A & fAheldl W
HYAT A S R 817 FUA F o dfgd Aewor HifoR|

[5]

33.

Why is tertiary sector growing so rapidly in India ? Explain it with four reasons.
HRA & Jciigen &7 el doll & &4l §¢ @ 8? 36 IR HRUIT & FASASY|
Or

What are the disadvantages of working in an unorganized sector? Suggest any two ways to
protect the workers working in an unorganized sector.

IS 8T H HH Ao & FT Johdlel g2 IS & H HH A arel
HHHT H FI&T & T A ar U G|

[5]

SECTION-E
CASE BASED QUESTIONS

(4x3=12)

34.

Read the passage below and answer the following questions.

Even before factories began to dot the landscape in England and Europe, there was large-
scale industrial production for an international market. This was not based on factories.
Many historians now refer to this phase of industrialization as proto - industrialization. In the
seventeenth and eighteenth centuries, merchants from the towns in Europe began moving to
the countryside, supplying money to peasants and artisans, persuading them to produce for
an international market. With the expansion of world trade and the acquisition of colonies in
different parts of the world, the demand for goods began growing. But merchants could not
expand production within towns.

1) What do you mean by ‘Proto’? 1

ii) In the 17th and 18th centuries, merchants from the towns in Europe began moving to the
countryside. Give reasons. 2

[4]

9|Page




iii) In the countryside poor peasants and artisans began working for merchants based in the
towns. Give reason. 1

A feu arw I @ 9¢ AR Afaf@d geat & 3 g

gels 3R T 7 HaelAl gF g & 9B &, IR TR & v 93
AR W AAF 3cuea giar anl g At w omena a6 anl #9
sTAgr R 319 HigAeNeor & g8 TROT & Yel-3ig@fAdheaor & §9 7
e A &1 FFedl AR oREdr qaedr #, T F e § AqIRAT F
AT Sollehl H ST & A fear, fhamt 3R SHERT & o v 3mqfd #,
3R 3¢ AW IR & 6T 3caied e & fov T fhar| g R
& faear 3R gfar & s Reat & 3ufaasdt & Mg & ary, a&gsit
T ART dgat o3ff| AAfehed cmardy gt & MR 3cuige FT fATaR gl HT Thl
1) "W ¥ YR FAT deId g2

1
ii) 1740 3R 18dT AAISEr A, JUY & AR F YR FHUT Sollehl I HR
STl o3| HROT ¢

2

iii) TEHOT Semehl H INT fhamEr 3R SRR o et & Tua camaiar &
T & e gF Y fear| HRor &)

1

35.

Read the passage below and answer that follows.

Given the abundance and renewability of water, it is difficult to imagine that we may suffer
from water scarcity. The moment we speak of water shortages, we immediately associate it
with regions having low rainfall or those that are drought prone. We instantaneously
visualise the deserts of Rajasthan and women balancing many ‘matkas’ (earthen pots) used
for collecting and storing water and travelling long distances to get water.

Multi-purpose projects, launched after Independence with their integrated water resources
management approach, were thought of as the vehicle that would lead the nation to
development and progress overcoming the handicap of its colonial past. Jawaharlal Nehru
proudly proclaimed the dams as the ‘temples of modern India’; the reason being that it
would integrate development of agriculture and the village economy with rapid
industrialisation and growth of the urban economy.

i) What is the main cause of water scarcity? 1
ii)) Why did Jawaharlal Nehru proclaim dams as ‘temples of modern India’? 1
iii) How do dams help in conserving and managing water? 2

A fQU 91T Ireier F u¢ 3R IFH 3 G
W@'W&ﬁ?ﬂfﬁmaﬁa@ﬁ?,%%qul FLAT HideT § T §F
arelt T HAT F DT & Fhd &1 N & gA el Hr FAT 91T WA §,8H
A 38 HA I are I @I &t @ S 3T Bl g A ToRd H
e A Foqar aa § 3R AfGATT grelr SHger e AR HIROT & fow
SEaATe R S aTel &S 'HeH (TS & adel) @ Agfaad e § 3R
aell A & AU Sl gft au e

TIATAT & d1G 39 Uehlehel STl HETES Yathel GISChIOT & HY Y& HI TS
Tg3eS T IRASTAIHT FF CF ACYA & 9 & AN AT AT S GA F 3T
3rafrafies e & STemt 1 gy A ge o 3R goIfd $ir 3R
ST | STATEReATel #l6® o I & Sefl ' Yfeish HRA & A’ =¥ fopar;

[4]
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SHeT HRUT Jg ¢ foh g HIY 3R AT rdegaedr & G & doir &
3fegafentor AR el Irdeaaedr & A & AU Thihd |

i) Siel T &l HT &I HROT FAT g2

1

ii) SIATEYellel Ag® o Siefl A ' 3YfAd R & Al Fat v fhar?
1

1ii) ST 9N & TLEOT iR ey # FE PR FHeg R &2

2

36.

It will be a fair expectation that democracy should produce a harmonious social life.
Democracies accommodate various social divisions. Belgium has successfully negotiated
differences among ethnic populations.

It is necessary to understand that democracy is not simply rule by majority opinion. The
majority always needs to work with the minority so that governments function to represent
the general view. Majority and minority opinions are not permanent.

Rule by majority means that in case if every decision or in case of every election, different
persons and groups may and can form a majority. Democracy remains democracy only as
long as every citizen has a chance of being in majority on the basis of birth, then the
democratic rule ceases to be accommodative for that person or group. Take the case of
dignity of women. Most societies across the world were historically male dominated
societies. Long struggles by women have create some sensitivity today that espect to and
equal treatment of women are necessary ingredients of a democratic society. That does not
mean that women are actually always treated with respect. But once the principle is
recognised , it become easier for women to wage a struggle against what is now
unacceptable legally and morally. In a non-democratic set up, this unacceptability would not
have legal basis because the principle of individual freedom and dignity would not have the
legal and moral force there.

Democracy is a better form of government when compared with dictatorship or any other
alternatives. When we talk to people around us, most of them support democracy against
other alternatives, such as rule by a monarch or military or religious leaders.

i) What are the conditions under which democracies accommodate social diversities? 1
ii) Do you feel that democracy is better form compared to other alternative. Why? 1
iii) How does democracy maintain the dignity of women? Explain.

g T 3T 39T gl & Sl s Teh ATHSEIYOT WHATTSIS Sfidel sl faToT
£y

Mhay RAfFeT gafes [Faear & gaRfag sar g1 sfeaaa 3 aa
HEET & o AANE W Aholaqaesh slcdicd $HT gl

g FHSAT 39T ¢ & oAievdd Fad SgAd T F AT Adl &l qgAd
Pl EHLAT MITETS & 1T HIH Il DI ETSAT 8ldl § difeh IhN
AT gfSehior 1 Jfdfafied we & fow w1 w1 9gAd 3R HeaHeds
T TT TR FET g

SgAC GaRT A H HY § 6 93w A0y & AA H A 93% ToAT &
HAAS #H, HFT-37eT IfFd IR THAE TgAT T Fohd § AR T Fhl §
dAlehdT dT TP dlhdd Wl § o doh s ARIRS P Sledl o IR W
SgAT A glel 1 AlST AT &, d9 T ASAEAF A 3H AFT AT TR
& T 3R FAGT T AT gl AfGemdt H HEAM F AT AT, g I
# e AT VRS §T @ GO Tue FATST A| ARG & ol Fust
o 3 FT e a1 & § 6 ARREn3d &1 @FAe iR @A sgaEr

[4]
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Ush dlhdiide AN & 3aTd dcd &1 SR Adad Ig gl & 1o Hfgemsim
& A dEdd H AT FFA T give § g fohdl STl g1 offhel Teh aR
fcuia &I Aaar Aa o« & s, #Afgast & o 39 O & @ow Fay
HAT AT @ STl § S 39 et AR Afds &0 @ sredied g1 fner Ik-
ollehcliTNeh STAEAT H SH EAhRIAT & Hlefell YN I FRM FAifeh SATFId
Facdadr 3R ITIRAT & etrd 1 ggl Feer AR afde o 60 Fewm

AR AT fhell 30T fdohed T Jolell H oliehcld THR & Th d6c &9 gl
T EH 39 IH-UH & ANl H d1d ad §, df 3dAH q R 3T
faswedt & fa%cy dledd &1 FAdA d §, N & Tar a1 =7 a1 arfdAs

AT FT ATHA|

i) @ et O ufaar § e dgd aieds aefoie Afauanst & gaafaa
AT 82 1

ii) @1 YRl SEIAT § o oliehcd 3 faehoul &1 Jolell # SR gl &4i?
1

iii) olihad AR T IRAT T FT AT IW@AT &2 TATEIT HIEATI

2

SECTION-F

MAP SKILL BASED QUESTIONS (2+3=5)

37. a. Two places A and B have been marked on the given outline map of India. Identify them and write their
correct names on the lines drawn near them.

A. The place where the Cotton mill workers satyagraha took place.

B. Indian National congress session was held at this place in DEC. 1920.

Note: The following question is for Visually Impaired Candidates only in lieu of Question 37 (a).
A. Name the place where the Cotton mill workers satyagraha took place

B. Name the place where the Indian National Congress session was held in Dec 1920.

37. 0. HRd & 3T U TRTT AFRET TR &I ”IF A 3R B 3iferd fhu MU g1 3= ugam 3R 37 Uy Wit 15
XT3 R 391 Gg! A1 ford |

A. 98 R 81 HUN Hd AoIgR! o1 YARIg gl Tl

B. HRTY ST HIU T A feeaR # 3 R TR g3 4Tl 1920.

Tre: FFufeiad Uy v 37 (U@) & M R Had = Darfdd Ieficar! & e 3|

A. 39 RIF FT A Fd13T SI81 U Hd AoIgR] BT TATIg g3l U

B. I R o1 ¥ 1Y Sgf fadeR 1920 H HRAI ATTY DO BT UL g7 U
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37.b On the same outline map of India locate and label any three of the following with suitable symbols.
i. Namrup power plant .

ii. A coal mine in Jharkhand.

iii. The Nagarjuna Sagar dam in India.

iv. Vishakhapatnam Sea port

37, HRA & FORE HHRE R FHafafed & 9 {61 3F 31 Iugad Yol & I1 ol 3R dad B
| 9REY IR Wie.

fgeia. IRES H T Hae TaH.

iii. YRd H AT AR S|
iv. fa=TrRaTITY HYgl deg

13| Page






